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(Where ¢, is the permittivity of free space)
Topic: Physics-Section B
Item No: 57
Question
D: 100457
?ues.tion Numeric Answer
ype:
Question, | T8 T TS © Bl 341 30 cm TTHIS qOIE 1T FCA 400 Hz W% 450 Hz © 201 n ©F %
| (n+1) ©F NG A Sz | 7 IRTGETS B 2700 N T3, 341F (JF ©F 9 2 kg/m|
Topic: Physics-Section B
Item No: 58
Question 100458

ID:




Question

Numeric Answer

Type:
FPE 6 cm T G (AP SRR JMITE FOGTE 3 cm AN B (NP BN IR 9409
Question: | 27z | At GATAE IEILH® 3 cm JFAIEE 7 JAIWCH1E SSTIR19 G191 r cm L e 451 HITATE
IS BIFIE A 2, ¢ I 2F |
Topic: Physics-Section B
Item No: 59
Question
D 100459
_?;pees:tion Numeric Answer
oae (el «Je, TOF Tazl q2/9 AZRG <] (9151 F6! @72 32 (202 | 4 ms~ ! T 93 &le 7S
e ReIth! 211 eisfes g wrglhe i qR/IvER «e YfE cm TRy 4F AR 7@
R | (g =10 ms-2 TR
L LIS LT LLSY
Question:
T v T
Topic: Physics-Section B
Item No: 60
Question
D 100460
Question
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Twore o M T B 751 2T Az Fete awe @Rl @K drwe F4 (2021 B & (ke
AIS BC (251141 STEIE FC0! ©eital foefet =iz | A @ it C & siitet 2 et 93 9w =
t(V2 +1)s1t3TW |
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Topic: Chemistry-Section A
Item No: 61
Question ID: 100461
Question Type: | MCQ

ARFERe @FRIGN FRIR (RTR FE ST S_Eoee * e w5 T

(A) n=3,1=0, m=0
| (B) n=4,1=0, m=0
Question:
(C) n=3,1=1, m=0
(D) n=3,1=2 m=1
2e
A (D) > (B) > (©) > (A)
B: (B) > (D) > (©) > (A)
c: (© > (B) > (D) > (A)
D: (B) > (C) > (D) > (A)
Topic: Chemistry-Section A
Iltem No: 62
Question ID: 100462
Question Type: | MCQ




wiferpt 13 Sifert 11 7 Gee few 4t ¢
Sifeel 1 wiferel 11

(A) po=Wa—Vp I faeE e

Ovecton (B) wn=Qxr () & Seifas S=fe
(C) w () @ifeme oo SRiEE
(D) dyo=¥a+¥p (IV) Q= il
e e 9 va Tes Aifz Tlereat ¢

A: (A) - (1D, (B) - (1), (©) - (IV), (D) - (III)

B (A) - (W), (B) - (1V), () - (1), (D) - (II)

g (A) - (), (B) - (1), (O) - (IV), (D) - (II)

D: (A) - (), (B) - (IV), (C) - (W), (D) - (@)

Topic: Chemistry-Section A

Item No: 63

Question ID: | 100463

_?;pees:tion MCQ

Question: | ¥Fel =g NH,OH § R7S1Te =Tl «few HCLT pH -tiiG® (714 (77 29 ¢
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C:
0 Wfws sres
pH
D: T 7 |
0 ¢foe sTeq
Topic: Chemistry-Section A
Iltem No: 64
Question ID: | 100464
Questi
T;pees: ion MCQ
TS WOl @ Wl 24 ¢
Ouestion: TEI:  KIF3AME, TR 2[Rl steeae R0 f2460s A |
TEIl: IS akws FR6, TR AR SeTead FEce @A AR 30 |
Q97 TTed SEe, [MHES 8T #[ ©% Ued A% SEed ¢
A Tfe 1 iF G 11 Yeaibie 797 |
B: T 1917 T 11 171512 <P |
C: e 1779 78 O 11 79 |
D: T 1 opTe) € i@ 11 79 |
Topic: Chemistry-Section A
Iltem No: 65
Question | 400465
Question MCQ

Type:




5T W6l T 7l 24 ¢ <51 Ferae (A) O et FR6 (R) 25l BT = 29 ¢
5EIE (A) : 9B TRCT WA2R| TIPS MR 94 ABG F9E TG 293 73l
Question: AR ARG
| TR (R) UFT T A TR AABES Fisiera WEH AR T (NS g Tore iy F40g
AIGTAT F9E NCGW A 2 A |
€271 Tfeq wiewe, Mefefie Reaas[ wibEes boige e Jife Sened
A (A) o= (R) CADIE ©% = (R) 25 (A) T &7 A< |
B: (A) @I (R) YO @@ € (R), (A) T &= 101 723 |
c: (A) ¥% % (R) ¥& 727 |
D: (A) &7 7127 % (R) 9= |
Topic: Chemistry-Section A
ltem No: 66
Question ID: 100466
Question Type: | MCQ
5IRG!I (T3 A, B, C, D F IZETAFT 2ERGE-11 [ wete Wl T4 ¢
(A) 3s2
Question: (B) 3523131
(C) 3s23p3
(D) 3s23pt
PIReR M AL ST R0 LT &% T 2o
A (A) < (B) <(C) < (D)
B: (B) < (A) < (D) < (C)
C: (B) < (D) < (A) < (C)
D: (B) < (A) < (C) < (D)
Topic: Chemistry-Section A
Iltem No: 67
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Question

Type: MCQ
Question: 35( 19 @B (3781 A @ 39f 29 @Bt GTE B § 91979 A= (@ | I 35( 1T A 7 S
| @wetE e, (9% B 2 ¢
A: Mg
B: Be
C: Cla
D: Sr
Topic: Chemistry-Section A
Item No: 68
Question ID: | 100468
Questi
T;peesz ion MCQ
TETE QG| TI@ WAl TF ¢ B RETEE (A) W WMol 199 (R) 25iel Bfere wa 2o ¢
| FeomfE (A) ;AR BER 0N A (RIA
Question:
*[E9 (R) = B 9 I 929 7 |
@2[qq TG aeTrs, ki Aamaral va Tee aifg Terea
A: (A) 1= (R) REAGE 7 S0 (R) 241 (A)T & 147 |
B: (A) 1% (R) YEAGIE 79 5% (R), (A) I & [ 723 |
c: (A) 3% € (R) P19 |
D: (A) =PTe) 5% (R) 3797 |
Topic: Chemistry-Section A
Item No: 69
Question ID: 100469

Question Type: | MCQ

Question:

oIS 1 TR W WO, MnO; 9 QTS G

A:

5,02~




B: 5,07 (A

C: SO3~ ¢

D: SOﬁ_ ZFI

Topic: Chemistry-Section A
Item No: 70

Question ID: 100470

Question Type: | MCQ

Question: | 4w, FETR EibeTe iR SiRe Sl ALREITS 23 et Fraes ¢
A: O - T 29 @9 AT |
B: ©F o- WA o[t @ A |
C: ©F - W iqt TSl AT |
D: w19 o- M3 2[Q TSt IS |
Topic: Chemistry-Section A
Item No: 71
Quest
ID‘feSt'O” 100471
Quest
T;pees:tlon MCQ
©ETS Y| O fral 24 ¢
ofE 1 (SRFSE TN @R FIE G Ble Srayiei 2[4 [efe arewe Braes Trmere
Question: AR T |
Sfe 11: 2B SRR (iR 2E (5T I |
G971 TG TieTs MRS Res@s[l witReE brRe Tearn! ik Thied ¢
A: T [ 9% e 11 qRIIR 9% |
B: T 1 9% O 11 1o wies |
C: e 1 va fog U 11 9197 |
D: Tfe | 9ws o O 11 9% |




Topic:

Chemistry-Section A

Item No: 72
Question ID: 100472
Question Type: | MCQ

AE RAGTS AT W2 :

O
Question:
NaOH
R > A
major product
/\ - jor p
OH
R— C — CH,4
(l)H
B: R—?—Gg
CH,CH,

’ )‘\/\

R

O
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Topic: Chemistry-Section A
Iltem No: 73
Question ID: 100473




Question Type:

MCQ

ffeiie [ T8 I oewd) ‘B’ T4 3

. Br, HI
Question: CH3 —O=CH~= CHS e il SEEE o B
| CH,OH (major product)
CH,
HO Br
| |
A CH;-C — CH-CH,
|
CH,4
I Br
|
|
Br ('|JH
C: CH;—C — CH-CH,4
|
CH,
Br I
D: CH;-C — CH-CH,
|
CH,
Topic: Chemistry-Section A
Item No: 74
Question ID: 100474
Question Type: | MCQ




WI@WIHWWW@

wiferel 11
@ @ 1) ol s R
13'.:113,;31542}le
CH,—~CN —2—> S“Clg+ CH;-CHO ()
Question:
@ OCh (1) e fafea
H30+
(D) coHa (IV) qese et
..ﬂ'ﬂ(:l3
frsferie ffEam okt o7 Teq aifs Thieat ¢
A (A) - (IV), (B) - (111}, (C) - (II), (D) - (1)
B: (A) - (@), (B) - (1), (C©) - (1), (D) - (IV)
c: (A) - (D, (B) - (I, (C) - (IV), (D) - ()
D (A) - (1), (B) - (11), (C) - (1), (D) - (IV)
Topic: Chemistry-Section A
Item No: 75
Question ID: 100475
Question Type: | MCQ




Siferet 13 Siferr 113 (0o o 34t ¢
Gl | SIfERs! 11
(@=cT) (FE19)
e | () TR (I) GG
(B) (GFFeW () e
(C)  «fEFem (1) CERIzF 92
(D) OF T (IV) g e
fafie Tesesm 9% Teq iz Theal ¢
A (A) - (1), (B) - (LD, (C) - (1), (D) - (IV)
B: (A) - (D), (B) - (0), (©) - (1), (D) - (IV)
C: (A) - (D), (B) - (1), (©) - (IV), (D) - (I1I)
D: (A) - (@), (B) - (II), (©) - (1), (D) - (IV)
Topic: Chemistry-Section A
Item No: 76

%?GS”O” 100476

Question
Type: MCQ

@B Tera e ‘A '© SIZGee i TR wile | 2 Aeee AT fiefe (2 @bl wa fuea, f ez gel
T | 9 A T A IS TS TIPS G261 B (ST O A’ 97 131 +2 | (IS B
Question: | Tt ‘A’ 7, «BT aq NaOH 3 7157 &f&mat 741 27, @bt o941 7j2< 27, 7 N 329 3, e Cl 73 |
2 (R SRR FiE R e Fere i R, oReigs e @ SR W w5 s sws s |
G ‘A TE—

+
NH,Cl ™




NH,
& |
B:
+ —
CH, NH,Cl
C:
+
NH,Cl~
D:
Topic: Chemistry-Section A
Item No: 77

Question ID: 100477

Question Type: | MCQ




wiferl 1< wifers! 11 3 e foem <54t ¢

wiferel 1 wifere! 11

(A) 29 + HI 1) Fe afze

Question: (B) 21?15’@ + Br2 AT (IT) ?fﬁaﬁ Cﬁ‘ﬁkﬂw
(C) FFT + GRHF GRTGIZT (D) =i afee
(D) % + HNO, (IV) (23
fafEe Teseral 9% Teg 9ifE Threal ¢

A (A) - (IV), (B) - (1), (O) - (11), (D) - (III)

B: (A) - (IV), (B) - (I1D), (C) - M), (D) - (@)

C: (A) - (), (B) - (1), (O - (IV), (D) - ()

D: (A) - (@), (B) - (IIT), (C) - (IV), (D) - (II)

Topic: Chemistry-Section A

Item No: 78

Question ID: 100478

Question Type: | MCQ

Question: | fTRRIRS (PG G P GAIG! T 2

A: RGN (RE0

B: B[ FEED

c: RGN s

D: GI2eeas FR(F0

Topic: Chemistry-Section A

Item No: 79

Question ID: 100479

Question MCQ

Type:




wifest 13 Sifert 11 1 (e e <54 ¢

SIferl 1 wifersl 11
(Mixture) (Purification Process)
st (A) FIEA O @fellem (D) A~ Ares
| (B) @A AfE® oI peliferm () THoew
(C) =l % @feifer (III) =TS
(D) LI oI HCA F 92T (IV) “FoF el
e kesa ol s Tes qifz Thnea ¢
8 (A) - @V), (B) - (WD), (C) - (1), (D) - (1)
B: (A) - (), (B) - (), (O) - (IV), (D) - (IT)
C: (A) - (), (B) - (IV), (©) - (IT), (D) - ()
D: (A) - (), (B) - (IV), (©) - (), (D) - (1)
Topic: Chemistry-Section A
Item No: 80
Question | 1904go
%Jpees:tion MCQ
Question: Fe3+ (IO, “GIERIN (R SE-IET a1 7151 (@19 FR0e Bt 2Ffeai S Sisrss Mg Teom
| R wETE—
A: [Fe(H,O)¢], [Fe(CN),]
B: Fe,[Fe(CN).],
C: Fe,;[Fe(OH), (CN),],
D: Fe,[Fe(CN).],
Topic: Chemistry-Section B
Item No: 81
Question 100481
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Question

Numeric Answer

Type:
Question: 100 mL 0.1 M H,SO, % 50 mL 0.1 M NaOH ¥ #19[® gfe IR (AR w@e H,50, 1 GG Lo
' x10"1 N | (Fabwa s<e 7<)
Topic: Chemistry-Section B
Item No: 82
Question
D- 100482
?ues.tion Numeric Answer
ype:
25°C TE0] T T b1l 99 bar © 26 bl AT (5128 ARG o101 BelI$F 2 2, (TLACE I TR
Question: | qBE ¥ b T WM 2T %1072 L mol ~1 | (Fabew w4l 71247)
(1l =R ¢ R=0.083 L bar K~ !mol —1)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100483
_?;pees:tion Numeric Answer
@51 T e (FRAGES e O, T THEOS G (1% (Te™ $9=280 g mol 1) GreTdl T#
Question: | T T RIS (FEARMGET T2ew] 298.0 K T 2[1 298.45 K (31 J(e a1 2o | M (@eI_M01E
| SlegifEel T8 2.5 KJK 1 % (IRBIE wE «HeiEie 25 9 k] mol L, (OTE wa 4t (sieq Afwe
5 | (FRoes =4 74T)
Topic: Chemistry-Section B
Item No: 84
Question
D- 100484
_?;pees:tion Numeric Answer
et @Bt e AR woa A, 100 g =TS 25°C © T2 =1 27 @51 719 w1 IR0, TE
Question: | A Bivl [ AT Bisfed SNikits] T a1 28 | e A9 A 517 23.76 mmHg | @9
34 Uiy A R AT T | (RPN o1 2T
Topic: Chemistry-Section B

Item No:
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Question

D- 100485
_I(?;pees:tion Numeric Answer
[A] — [B]
Question: | Ffr (1o [B] T 9197 2T TR SIS W BT&, WE 70 mins #1%® [A]R 90 21&EF AvoR
gl (ol T, cory RiFanE ife &3 25 xx 1070571 x I W T | (Foew
TR HL)
Topic: Chemistry-Section B
Iltem No: 86
Question
D- 100486
_?ues.tion Numeric Answer
ype:
ke fToae —
| 3iED, fereaiEn, UMD, (FEANIS, (ZTAGIED, (PERTRD, (NEHED, (NOIEhIEs, (CHFIED,
Question:
TSI '1205, A0 |
TR 2 SFEFS A T
Topic: Chemistry-Section B
Item No: 87
Question
D- 100487
Que§tion Numeric Answer
Type:
Question: B ARG O ZT2G 18 (AT TRTT TGS T 1 Nhwd [iFwe Teom (@7 oroue
R EAIDSE RGOS S| |
Topic: Chemistry-Section B
Iltem No: 88
Question ID: | 100488
1Q_ue§tion Numeric Answer
ype:
ey fToae SomeaAlT 5o 4 9 3 SN AT T A
Question:

NOj3 , H,O,, BE,, PCL,, XeF,, SE,, XeO5;, PH , SO,, [AI(OH),]~




Topic:

Chemistry-Section B

Iltem No: 89
%feS“O” 100489
_Crlues.tion Numeric Answer
ype:
Question: | (el ER® 4t Tha™ 9o WIF pF 17 A W 25 BM | (Febow oixie Fie2)
Topic: Chemistry-Section B
Item No: 90
I%‘feS“O” 100490
Question .
Type: Numeric Answer
CHB CHO
. e
Question: @ @
58

(92%)
@977 RfFare 5 g 52 (@arEeeziReie »asd Sl 27 [ Tl 92% | Teof (2Rl
(I TCRIRTCS 2/l x1072 g | (Fabeos S4e 72)




